Balance the following redox reactions:

Al (SO,), + KIO, + KI + H,0 ——> AI(OH), + 1, + K, SO,

As+ HNO, + H,0 —>H,AsO, + NO

HAsO, +Ce(SO,), + H,O0—— H,AsO, +Ce,(SO,), + H,SO,
Cl, + AgNQO, + H,0 —— HCIO, + HNO, + AgCl
Cr,(SO,), + KMnO, + H,0—— H,CrO, + MnSO, + K,SO, + H,SO,

HCI + FeCl, + K,Cr,0, —— CrCl, + FeCl, + KCl + H,0O

HCI + KI + K, 5O, —— I, + KCl + Se + H,O

HCI + KMnQO, + NaNO, —— MnCl, + KCI + NaNO, + H,O

MoQ, + H,S0O, + Zn—— Mo0,0, + H,0 + ZnSO,

HNO, + H,C,O, + KMnO, —— CO, + Mn(NO;), + KNO, + H,O

AgNO, + NaClO —— AgCIQO, + AgCl + NaNO,



